Tuesday 16.06.2020
Fluent in Five
1. 2.7 – 1.8 =
2. 5,016 – 2,874 =
3. 9 x 2 x 8 =
4. 8 x 10 x 5 =
5. 366 ÷ 6 = 
Times Table Rockstars
Spend 10 minutes on TT Rockstars (ON SOUNDCHECK PLEASE!) 
Maths Task – What is area?3)
1)
2)
4)
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Aaron wants to use the sticky notes to measure
other things in the classroom. Which object would be
the best for him to use the sticky notes to measure.
Explain why.
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Estimate how many of these small squares
make up each shape and match each shape to
the correct number.
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Write the letters in the correct order to order the
shapes from the largest area to the smallest area.
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Megan says that these 2 shapes couldn’t have the
same area because the sides are different lengths. Do
you think she is right or wrong? How do you know?

Aaron has some square sticky notes. He uses them to
measure the area of his whiteboard. He finds that his
whiteboard covers the same area as 6 sticky notes.
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Aaron wants to use the sticky notes to measure
other things in the classroom. Which object would be
the best for him to use the sticky notes to measure.
Explain why.
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Estimate how many of these small squares
make up each shape and match each shape to
the correct number.
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Write the letters in the correct order to order the
shapes from the largest area to the smallest area.
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Megan says that these 2 shapes couldn’t have the
same area because the sides are different lengths. Do
you think she is right or wrong? How do you know?

Aaron has some square sticky notes. He uses them to
measure the area of his whiteboard. He finds that his
whiteboard covers the same area as 6 sticky notes.




